UéN BMATS201

Second Semester B.E./B.Tech. Degree Examin § , Dec. 2023/Jan 2024
Mathematics - Il for CSE Strea
Time: 3 hrs. {éf@%% . Max. Marks: 100

ch module.

2 VTU Formula Hand Book is permitted,
3. M : Marks, L: Bloom’s level , C: Cow
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l z x+z é{% .“- 7 L2 CO]
Q.1 | a. | Evaluate ” I(x+y+z)d d
-10x-z
7 |L3 | CO1
b. | Evaluate ”e“" )
¢. | Show that p(m H%éé%’ﬁ(m)'}'(n) 6 |L2 | CO1
% “y(m+n)
2
N 7 [L3 | co1
Q2 |a. *“Tf‘(xzy +xy?)dxdy by changing the order of integration.
.
do 7 |L2 | CO1
b.

¢. | Using mathematical t@ksg »write the code m@nﬁe area of an cIllpSE” by 6 |L3|CO5

#

w b b »é:» 3‘”’%

double mtegratiA 4_[ I dydx

.53‘

7 | L2 | CO2
7 |L2 | CO2
' s cal coordinate ﬁgem is orthogonal. 6 |L3|CO2
7OR
: 7 | L2 | CO2
b. —2xj+yk in cylindrical coordinates. 7 |L2 | CO2

c. Usmg mathenz;aﬁhal tools, write the code to find the curl of |6 |L3 | CO5
F= xyz1+yéﬁkf+z xyk .
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Module -3 _
Q5 Prove that the subset W = {(x, y, 2) : ax + by + ¢z = 0; R} of the | 7 | L2 | CO3
vector space R is a subspace of R*. A ‘
gq et
| Determine the following vectors are linearly “independent or not, 7 |L2 | CO3
x1=(2,2,1),%=(1,3,7) andx3=(1,2,2) in;% :
é;f g g
Show that the function T : R — RC givenby T(x, y) = (x +y, x—y, y)isa,| 6 | L2 | CO3
linear transformation. ;
Q.6 Determine whether the vector: 1, 2, 3), v» = 3y 7 | L2 | CO3
v3=(2, 5, 8) are linearly depe nearly independent. s
Verify the Rank-Nullity thegréﬁ for the linear transformation T : R —» R* {7 | L2 | CO3
(1,2,4),v=2,-3,5),w=(4,2,-3) in R’ Find: [ 6 |L2 | CO3
iil) <v.w> iv) <(u +v).w>
Module =45~
Q.7 imate value of the root of the equationx’ —x — 1 =0, using | 7 | L2 | CO4
the 1si method upto four decimal places of accurancy, where root
lies:b ween 1.4 and 1.5.
Using Newton’s divided difference formula ew: |7 | L2 | CO4
following: : %
6 |L3 | CO4
Q.8 7 | L2 | CO4
'Q‘gp for the following values. | 7 | L2 | CO4
2 by using Newton’s forward
95 | 100
7088 | 7854
rid je“zdx by taking seven ordinates. 6 |12 | Cco4
-9 0
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Module -5
Q.9 | a. | Find by Taylor’s series method the value of y at x = 0, e places of | 7 | L2 | CO4
decimals from gx—y = x?y—1 with an initial condition y(0) =1.
b. L2 | CO4
L2 | CO4
c.
L2 | CO4
Q.10 | a.
L2 | CO4
b.
L3 | CO5
c‘
at y(2) taking h = 0.2. Given that’
order. ’




